=
s

M
1\33

fbgﬁ:gi%&‘ﬁ“‘ﬂﬂmlﬁé‘%‘\ \fg #
i%ﬁg%%%ﬁ%1Xﬁ$%£gﬁgowﬁﬁT§

AR par A A BTt TR OE RS
2%1 Eﬁ@/z’k%—”—"ﬁ igg? ?éfgﬁ&%;q:

T oo

. ?‘;%_LLL IE%’}E;%-? £} ccmp@seed.net.tw
Notice:

| ndividual students, nonprofit libraries, or schoolsare
permitted to make fair use of the papersand its
solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
permitted only under license from the Chiuchang

M athematics Foundation.

Requestsfor such permission should be made by
e-mailing Mr. Wen-Hsien SUN ccmp@seed.net.tw



2011 # 7 > £ B F RRHH i F
SR A BER A AR

fim R [ T R A:

m A RO O%

EZERE: = /B
¥ 3L LECLEE o EOPEEDL A 0 H 604
3 )

(LR ¥ EFERE AT S0 A

1.% 123 4r B#HiF L7 o2 256B 4 e ##cr B9 3 v e g o

Al 256 B - #eanid e i o Ans: 711040
2.3 ab cih B £ N= a+3c +7a+6b+3c+ c—-a Al N hdo ] & 5
a+2b+c a+b+2c 2a+b+c
o Ans: 1+24/3
3.3%ka s BT & 2 425% ax’ +2(2a-1)x+4(a-3)=02 > F - BEHET > Blah
SR I PSRy ° Ans: 20
4.%F 05ERAHE L2, 2oa&a’ﬁmﬁeﬁﬂ§3aﬁ%ﬁﬁ—@
EEAEENZLIT L 23 55 Tz 235 BBIRAGHIE 2 ajp B Pk
7 507 ° Ans: 110
. v 2c _b+d 3
5.¢ &ra,b,c,diwm I § L W a
RGeS Shi2e ard “b+20)a+d)
Al(a+2c)(b+2c) 2. & & o Ans: -3

0. 9 Z»F'uavrﬂ":&,’f_}la-—n[am[’;jzf,ﬂ%“1nfk}%‘r%Pﬁaw1F“;}:§-ﬁ€gi
v A S SR s N A 2 ﬁiz\ﬂf\T EEXF/;FRL2X > g1 iFp %E%
FT7TxmFRL3IX FRFa L k- BT RELIE A
2011 % ¢ > TF“‘,‘%PE-P]K@_ O oo Ans: 172

—-\\
[l
\

7.7 0 R A=A s P Vi a,bc,defghie8BFA Y TEAB
FATBA-EFT L I (FRFLHEAIBFTE > P FTEFIR)> ML FITR
K8 BF AP ENe BFA* R R IR 5 CRE S R ERER AT
Bend B¢ 305 -+ P P Geng A - 23 €N A E Nae B
A ¢ o Ans: 7




8. Fafrpims it iy 2 425" 6x° —3ax+ B =07 R4 2022 0] 38 3
P f-az B & o Ans: 27

0. L TR ¢ arpz 47, ABCHEE L 4-D % BC#} ch- B s DC
£5 10 %00 ACH# 5 $HM > D crgHEEL S Es 11 ABif 5 $HEM - D 4
HAER G Fo RIS EF 0k 3 ° Ans: /39

D

10. 4+ T B > © 4vP,Q,R A W % AABC = i AB,BC,CA ¥ BL > BR PQ,AQ A %

UHEF R B E AABC G ff 5 1000 PIAQEF chm A5 o
25,1

Ans: — =

s (%%

11.éirrﬁf§§»:a1az,a3 B, 89,3, i & Q) <@, <8; <..<8 <8 <y
Fal+a +a +.+2, <2011 > Plag—a b BEi_ 0 o

Ans: 20

12. 4w+ T @] > » ##7)BCDEFG ##— & * AACDP % 4 & B2 &
Z &A590A58 > £ 3 A ACDP éhE fr i A4 W 5 AC=6,CD=9 » *
A_:AG GF=3» DE=2 ° 3% fo= ¥4, BCDEFG % # ¢ 45 1| & #
Bk ek 2 A5HUIK » H ¥ KH-T {7CD » KJ-L {7 AC;

Pl& > A5 HUK O ff & o Ans:E (#26=)




A4

$ oA I EHEP  ERE20 4 5 £ 60 A
(T RS RS PRI YRR )

1. 4B » AABC® » 2 P,Q % BC#l t e B » 2 ?E'APAQzézBAC :

M X5 AB#E - 8L Y i AC#at £t en— 8L % 1§ ZXPA= ZAPQ %
ZYQA=ZAQP - FZ PQ =PX +QY

X
[%%7%] T N
4BCE 1} B BM - & @ /MAP = /BAP - 7l
¥ 318 AAMP = AAXP (ASA)
#r1l PX = PM A
/MAQ = /PAQ — /MAP
_ %(LBAC — /MAB)
~L uac
) X
— /CAQ c

PR % B P M (. )
QY = QM N}

55 PX +QY = PM +QM = PQ

2. F#1,2,..,2011 ¢ 5 50 i EFECT & T 5 [OX]+[15X]+[25x] 57 5
BOOXERAE (SR E LY PRI 5P 0y R k)

\ ?(x) =[5X]+[15x]+[25x] » R
f(x+%) :[5(x+é)]+[15(x+%)]+[25(x+%)]=[5x+1]+[15x+3]+[25x+5]: f(x)+9

HEFEHENT AT 5 F(X)eA5% > PlntOk s 7 ou o 5 f(X) 558 > B¢ kKE ¢ Bk
T AN F 5 BT Aom S f(X) AN kY g

. 1 P TV N IO
gXG[O,E)H%E’ f(x)=0; gXG[E,E)H? f(x)=1; gXE[15,25)H5 f(x)=2;

2 3 3 2 2 4
¥ Xel[—, =)@ f(X)=8; % xe[—, )& f(X)=4; % xe[—,—)F > f(X)=5; %
(] G[25 25)?* (X) ] E[25 15)?* (X) ] E[15 25)?* (X) ]
XG[ZiS%)B?’ f(x):6:§x=%ﬂ$’ f(x)=9 ¢ gz 1~9+¢ » 5 1-2-3-4-5-6-9%£7

BET A7 A F(X) 55 1 £ F) 2011=9%223+4 5 e £ F 7x223+4=1565 i # -



;/;»}; S BRILELINLI} & A g;:«‘]grsz 712 LL%F—’P” * e eniE R
LR - FE O F o RGP T AR e o
RE2FT OFEF o FRZBAEAGDAEKEF 54T

(%45 %]

KZBRLA A, B i abc P ViEKka<b<co
d 323, ¥ frab+ac+bc=36 -
za=1>p36=b+c+bc -

v awbc+b+c+1=(b+1)(c+1)=37=1x37 -
FKEb=0>%E2L o

Fa=2>p36=2b+2c+bc -

v irbc+2b+2c+4=(b+2)(c+2)=40=1x40=2x20=4x10=5x8 -
FEBb<0>b=28b=3>

Cbh=2477F ARl EApl > 3 B8 o

Virh=3 > ) pFCc=6 o

%a=3> B36=3b+3c+bc -
7 arbc+30+3c+9=(b+3)(c+3)=45=1x45=3x15=5%9 >
FHEDb<2 > BashsBER7 F &

#a>4 > plab+ac+bc>4x4+4x4+4x4=48>36 > * @+ &£ & Lo

Tiwa=2>b=3>¢c=6cF=BELFLBF 243464



